Tower(a) 01TAO5, inclusive ADC a01TAO5

— : : : Entries 504000
105 e T SN SO Mean 0.02479
= | 5 5 5 RMS 1.87
F Integral 5.04e+05
S = I X2 / ndf 2054 /| 7
- g g g Constant 1.885e+05 + 341
107 = f b oo SR SR Mean -0.1143+ 0.0016
= | | 5 : Sigma 1.052 + 0.001
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Tower(d) 01TAO5 , ADC, tag: UxV 2*thr | dO1TAO5
22 : : : — Entries 89
20 | [ e ....| Mean 12.37
F i 1 I'RMS 5.902
= Integral 89
= X2 / ndf 4.791/8
14 X0 10.61+ 0.25
12F ! aL 1454+ 2.12
10F sigL 0.9371+ 0.5862
. sigG. _1.859 + 0.253
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Tower(a) 01TBO5, inclusive ADC a01TBO05

= ; 5 5 ; Entries 504000
10° i e T SRR Mean 0.156
= : : : : RMS 2.066
+ L : Integral 5.04e+05
107 E x2 / ndf 1684 /8
L Constant 1.748e+05 = 315
10° £ Mean 0.0007498 + 0.0016688
; Sigma 1.134 + 0.001
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Tower(d) 01TBO5 , ADC, tag: UxV 2*thr do1TBO5

22 5 : 5 —1 Entries 106
20E ’ i ’ Mean 11.98
= RMS 5.9
= Integral 106
= X2 / ndf 5.352/9
14 x0 10.06 £ 0.22
12F aL 18.11+ 2.47
10E sigL 1.552 £ 1.026
. sSigG 1.633 £ 0.197
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Tower(a) 01TCO5, inclusive ADC

5
10

10

10°

10

10

a01TCO05
Entries 504000
Mean 0.003409
RMS 1.894
Integral 5.04e+05
X2 / ndf 3680/ 6
Constant 2.577e+05 + 480
Mean -0.1632 + 0.0012

Sigma 0.766 + 0.001
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ADC-ped
d01TCO05
Entries 103
Mean 11.99
RMS 5.942
Integral 102
X2/ ndf 6.351/9
x0 10.16 £ 0.21
aL 19.95+ 3.01
sigL 1.554 + 0.872
sigG 1.415+ 0.186
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Tower(a) 01TDO5 , inclusive ADC a01TDO05

— Entries 504000
10% e P Mean -0.3729
= RMS 2.011
F Integral 5.04e+05
100 g X2 / ndf 2150/ 8
~ Constant 1.752e+05 + 316
10° & Mean -0.5246 + 0.0017
E Sigma 1.131+ 0.001
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Tower(d) 01TDO5 , d01TDO5

25 = e Entries 102
Mean 11
RMS 4,799
"""""""""""""""""""""""""""" Integral 102
X2 / ndf 6.825/7
_______________________________________________ x0 9.694 + 0.221
aL 19.07 + 2.94
sigL 2.416 + 3.037
-------------------------------------------------- sigG 1.544+ 0.221
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Tower(a) 01TEO5S

inclusive ADC

5
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a01TEQS

Entries

Mean
RMS
Integral
X2 / ndf
Constant
Mean

504000
-0.3505

1.744
5.04e+05

3348 /7

2.305e+05 + 424
-0.4917 + 0.0013

Sigma

0.8585 + 0.0010
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Entries
Mean
RMS
Integral
X2 / ndf
x0

95

12.39
6.287

94
9.897/8

9.963 + 0.225
17.17+ 2.51
1.804e+05 + 136339
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Tower(a) 02TAO5 , inclusive ADC

a02TAO05

5
10

10

3
10
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504000

-0.1088

1.935

5.04e+05

2099 /8
1.846e+05 = 334
-0.2508 + 0.0016

Entries
Mean
RMS
Integral
X2 / ndf
Constant
Mean

....................................................................
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.........................................................

Sigma 1.074 + 0.001
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ADC, tag: UxV 2*thr
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13.37
8.156

85
4501/7

10.29+ 0.21
16.7+ 2.5
1.886 + 2.070

Entries
Mean
RMS
Integral
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Tower(a) 02TBO5 , inclusive ADC a02T7B05

— Entries 504000
Mean -0.3291
RMS 1.888
Integral 5.04e+05
X2 / ndf 3286 /7
Constant 2.175e+05 + 399
Mean -0.488 + 0.001
Sigma 0.9089 + 0.0011
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Tower(d) 02TB05 , ADC, tag: UxV 2*thr | d02TBO5

: Entries 113
Mean 12.55
RMS 8.08
Integral 113
X2 / ndf 3.026/8
x0 9.802 + 0.158
aL 26.36 + 3.63
sigL 1.068 + 0.557
sigG 1.239 + 0.148
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Tower(a) 02TCO5 , inclusive ADC
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10
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10
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10

a02TCO05
Entries 504000
Mean -0.1434
RMS 2.072
Integral 5.04e+05
X2 / ndf 1899/8
Constant 1.734e+05 + 314
Mean -0.3024 + 0.0017

1.142 + 0.001

25

Tower(d) 02TCO5 , d02TCO05

— Entries 104

L Mean 12.18

— RMS 6.654

— Integral 104
X2 / ndf 4.18/9
x0 9.956 + 0.187
aL 22.05+ 3.11
sigL 1.768 + 0.716
sigG 1.295 + 0.160
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Tower(a) 02TDO5 , inclusive ADC a02TDO05

— : : : Entries 504000
PP H | T SR N Mean -0.08292
= 5 5 5 5 RMS 2.013
M= Integral 5.04e+05
OET Ty X2 / ndf 1645/ 8
— Constant 1.717e+05 + 309
10° £ Mean -0.2341+ 0.0017
= Sigma 1.155+ 0.001
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Tower(d) 02TDO5 , d02TD05
— : : : : Entries 94
2 A I o " Mean 12.41
: ' ] : RMS 6.533
Integral 93
X2 / ndf 6.687 /8
x0 10.19+ 0.22
aL 17.01+ 2.35
sigL 0.917 £ 0.594
. . sigG 1.557 £ 0.193
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Tower(a) 02TEOS, inclusive ADC a02TEO5
— Entries 504000
10° Mean -0.06374
= RMS 1.818
— Integral 5.04e+05
100 - X2 / ndf 2769 /7
- Constant 2.18e+05 + 399
10° &= Mean -0.2069 + 0.0014
= 0.908 + 0.001
10° - E
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L

Tower(d) 02TEOS , dO2TEQ05

= Entries 102
= Mean 11.66
=3 RMS 5.097
- Integral 102
=5 X2 / ndf 7.398/7
— x0 9.901+ 0.219
— aL 19.91+ 3.22
= sigL 8.304e+04 + 32046
== sigG 1.345 + 0.158
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Tower(a) 03TAO5, inclusive ADC a03TAO05

— Entries 504000
10° e b Mean -0.6484
= RMS 1.938
F Integral 5.04e+05
100 X2/ ndf 2705/ 8
— Constant 1.903e+05 *+ 346
10° Mean -0.7935 + 0.0015
= Sigma 1.041+ 0.001
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Tower(d) 03TAO5 , ADC, tag: UxV 2*thr dO3TAO05

: Entries 104
............................................... Mean 11.47
RMS 6.504
""""""""""""""""""""""""""""""" Integral 104
-------------------------------------------------- X2 / ndf 2.656 /6
_____________________________________________ x0 9.538 + 0.272
aL 16.87 + 2.49
"""""""""""""""""""""""""" sigL 2.609 + 5.298
--------------------------------------------- sigG. 1.945 1.0.303
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Tower(a) 03TBO5, inclusive ADC a03TB05
— Entries 504000
___________________________________________________________________________________ Mean -0.4871
RMS 1.901
Integral 5.04e+05
'''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' X2 / ndf 3531/7
Constant 2.197e+05 = 403
Mean -0.6495 + 0.0013
Sigma 0.8996 + 0.0010
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d03TBO5
----------------------------------------------------------------------------------- Entries 108
................................................. Mean 12.8
_________________________________________________ RMS 8.37
_________________________________________________ Integral 108
| .| X2/ ndf 21.76 /7
""""""""""""""""""""""" X0 10.19 + 0.34
"""""""""""""""""""""""""" aL 13.68 + 2.06
"""""""""""""""""""""""""" sigL 2.06e+05 + 136541
"""""""""""""""""""""""""" SIgG 1794+0220




Tower(a) 03TCO5 ,

inclusive ADC

10°

10

10°

a03TCO05
Entries 504000
Mean -0.5426
RMS 1.929
Integral 5.04e+05
X2 / ndf 3369 /7

2.174e+05 + 399
-0.7066 = 0.0014

Constant
Mean

Sigma 0.9092 + 0.0011
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Tower(d) 03TCO05 , ADC, tag: UxV 2*thr | d03TCO5
: Entries 115
o5 Mean 11.1
RMS 5.107
Integral 115
20 x2 | ndf 6.927 /8
x0 9.712 £ 0.189
15 aL 23.08 £ 2.90
sigL 2.003 = 2.002
y sigG. 1.439 + 0.148
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Tower(a) 03TDO5 , inclusive ADC a03TDO05

Entries 504000
Mean -0.01603
RMS 1.955
Integral 5.04e+05
X2 / ndf 2716 /7
Constant 2.081e+05 + 380
Mean -0.1748 +£ 0.0014

Sigma 0.9505 + 0.0011

d03TD05

Entries 100
Mean 12.81
RMS 7.254
Integral 100
X2 / ndf 4.049/6
x0 10.41+ 0.24
aL 18.81+ 3.05
sigL 6.071+ 22.557
sigG 1.536+ 0.272
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Tower(a) 03TEO5 , inclusive ADC a03TEO5S
= Entries 504000
s Mean -0.2445
10 RMS 1.713
= Integral 5.04e+05
10* = X2 / ndf 4021/6
E Constant 2.762e+05 + 515
10° b Mean -0.3936 + 0.0011
= Sigma 0.7153+ 0.0009
102 E_ . . N
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dO3TEOS
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Entries 94
Mean 11.99
RMS 5.982
Integral 94
X2 / ndf 3.921/5
x0 9.946 £ 0.194
aL 20.43+ 2.93
sigL 1.394 £ 0.710

sigG 1.325 + 0.158




